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    SECTION - A (READING) 

 Read the following passage carefully and answer the questions that follow: 

(Direction: Q 1 -5) 

 The men who were governing Athens summoned Socrates to appear before them and to 

stand trial. His friends and pupils begged him to escape or to hide until the storm had 

blown over. But Socrates was not coward. He knew that he had done nothing wrong and 

that he had only taught what he believed to be just, true and honourable, and so he went 

to the court, an undersized, ugly old man, dust and travel-stained, but with a noble heart 

beating under the shabby garments which everyone knew so well. He made a powerful, 

dignified speech, answering every question, explaining that, although the Athenians 

didn't know it, he was really their friend. He told them that they would gain nothing by 

taking away the last few years of his life, but that he was willing to die many deaths for 

what he believed to be right. 

The judges listened to him and condemned him to death. The old man made no 

complaint. He leaned on his staff, looking round the crowded court," No evil can happen 

to a good man," he said, "either in life or after death, so be of good cheer. The hour of my 

departure has arrived and we go our ways; I to die and you to live." 

1.  What was the judgement? 

(A) Alive     (B) Condemned to death 

(C) Free     (D) No judgment 

2.  Why was he not afraid of death? 

(A) Because he was intelligent  (B) Because he was clever 

(C) Because he was on the right path (D) Because he was extraordinary 

3.  Give a suitable title to the passage. 

(A) The friend    (B) The trial of Socrates 

(C) Coward      (D) The trial 

4. Write the antonym of 'Civil'. 

(A) Social  (B) National  (C) Secular   (D) Uncivil 

5. Write the antonym of 'Coward'. 

(A) Clever  (B) Ugly  (C) Brave  (D) Brilliant 
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 Read the following information and answer the questions that follow it. 

 Direction ( Q 6- 10)  

 (i) There are 7 professors in a college. They are-A, B, C, D, E, F and G. Each of them 

  teaches a different subject. 

 (ii) Three of them are ladies. There are two couples among them. 

 (iii) C is the professor of Social Science and is married to the lady professor    

               who teaches Chemistry? 

       (iv)     E and G are ladies and teach Biology and Physics, respectively. 

       (v)     A teaches Maths and his wife does not teach Physics. 

       (vi)    B teaches either Chemistry or Commerce. 

       (vii)  F and D are gents and F is unmarried. 

6.     Which subject does F teach? 

(A) Maths   (B) Chemistry  (C) Physics     (D) None of these 

7.  Which subject does B teach? 

(A) Physics     (B) Chemistry  

 (C) Social Science       (D) Cannot be determined 

8. Which of the following are couples? 

(A) BC and AE     (B) AC and DE 

 (C) GA and CD    (D) Cannot be determined 

9. Which subject does A's wife teach? 

(A) Chemistry    (B) Biology 

 (C) Social Science    (D) Cannot be determined 

10. Which of the following are gents? 

(A) AC   (B) AE   (C) AB (D) Data inadequate 

Read the following information and answer the questions that follow it. 

Direction (Q11- 15) 

(i) 11 students A,B,C,D,E,F,G,H,I,J and K are sitting on a bench in a lecture room facing 

towards the teacher. 

(ii) D is towards the left of F and second to the right of C.  

(iii) E is second to the left of A and is sitting on one end. 

(iv) J is the neighbour of A and B is third to the left of G. 

(v) H is next to left of D and is third to the right of I.  
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11.  Which two students are sitting on two ends? 

(A) K and D   (B) E and D  (C) K and F    (D) E and F   

12. Which group of students is sitting just next to the right of G?  

(A) C,H, D, F    (B) C, H, I, B  (C) C, H, D, I  (D) H, I, B, C  

13 .  Who is sitting just in the middle? 

 (A) J   (B) C   (C) B   (D) I 

14.  Which of the given five statements is unnecessary? 

(A) (i) and (iii)  (B) (i) and (iv) (C) (iii)  (D) All are necessary 

15. Which one of the following options is correct? 

(A) E and A are the closest neighbours of J. 

(B) G, I and F are sitting to the left of C. 

(C) H is in the middle of the line. 

 (D) A, K and E are to the right of J. 

SECTION - B (VOCABULARY) 

16.  Choose the odd one out: 

 (A) Square  (B) Rectangle (C) Triangle  (D) Area 

17 Which one of the following is different from the rest three? 

 (A) Breathing (B) Singing  (C) Playing  (D) Writing 

18. As ‘Pen’ is related to ‘Stationary’ in the same way ‘Chair’ is related to ____? 

 (A) Wood  (B) Comfort  (C) Room  (D) Furniture 

19. As ‘Boat’ is related to ‘Oar’ , in the same way ‘Bicycle’ is related to _____? 

 (A) Tyre  (B) Road  (C) Pedals  (D) Chain 

20. Choose the one which can be substituted for the given words. 

 Life history of a person written by another 

(A) Autobiography  (B) Biography (C) Bibliography (D) Memoir 

21. Not fit to be elected or selected 

 (A) Ineligible  (B) Indelible  (C) Incredible (D) Incurable 

 

Choose one alternative which is opposite in meaning to the word given in capital letters. 

(Direction Q22-23) 

22. TERRIBLE 

 (A) Horrible  (B) Poor  (C) Delightful  (D) Hideous 
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23. ECLIPSE 

 (A) Dark  (B) Enlarge  (C) Goggle   (D) Gleam 

24. Select the correct meaning of the idioms/ phrases underlined in the following sentences. 

 I was all ears when my grandfather was telling me the story. 

(A) To be unaware    (B)  To be ignorant 

(B) To be attentive    (D)  To be tireless 

25. He is not afraid to speak his mind, even if it upsets people. 

(A) To pretend to be nice 

(B) To say what you really feel  

(C) To reveal a secret 

(D) To behave properly 

 

 Arrange the following letters given in capital to form meaningful words. 

 (Direction Q 26-27) 

26.  BVEEAR 

 (A) Baveer  (B) Beevar  (C) Beaver  (D) Beavre 

27. DRRHIOEA 

 (A) Diarrheoa (B) Diaorrhea (C) Diarrohea (D) Diarrhoea 

 

Choose the one which best expresses the meaning of the word given in capital letters? 

(Direction Q28-29) 

28. APPLAUD 

 (A) Defeat   (B) Pray  (C) Praise  (D) Request 

29. THRIFT 

 (A) Wickedness  (B) Miserliness (C) Moderate (D) Extravagance 

30. Select an alternative which is analogous to the first two.  

Sculptor: Statue::  Poet: ? 

(A) Chisel    (B) Pen  (C) Verse     (D) Canvas 
 

SECTION - C (GRAMMAR) 

31.  Identify the abstract noun in the following sentence. 

 (A) She  (B) Hates  (C) Poverty  (D) All of these 
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32.  Identify the kind of the noun for the words underlined in the following 

 sentence.  

 We cannot live without water. 

(A) Proper noun   (B) Collective noun 

  (C) Common noun  (D) Material noun 

33.  Find the part of the sentence that has an error. 

 Mr. Steve   gave    we      an assignment. 

        1             2        3             4 

(A) 1   (B) 2   (C) 3   (D) 4 

34. Fill in the blank with appropriate article. 

 I want ______ orange from that basket. 

(A)  a   (B)  an  (C)  the  (D)  Either (A) & (B) 

35. Choose the appropriate determiner. 

Could you bring me _______ books I left in your room? 

 (A) this   (B) that  (C)  these  (D)  those 

36. fill in the blanks with correct prepositions. 

 I had ________ travel ________ a crowded train. 

(A)  to ,in  (B)  at,at  (C)  at,by  (D)  upon,in 

37. Identify the type of tense in the following sentence. 

 They have been building the village for several years. 

(A)  Present tense (B) Past tense (C) Future tense (D) Either (B) or (C) 

38. Identify the correct sentence which represents correct passive form of the 

sentence given in bold letters. 

 The peon opened the gate. 

(A)  The gate opened by the peon. 

(B)  The gate was opened by the peon. 

(C)  The gate was opened the peon. 

(D)  The gate opened peon. 
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39. Change the narration of the following sentence from direct to indirect speech. 

 She said, "I have got a headache."  

(A) She said that she had got a headache. 

(B) She said she got a headache. 

(C) She said that she got a headache. 

(D) She said she had got a headache. 

40. Fill in the blanks with the correct modal. 

 Jyoti ____________suck her thumb when she was a kid. 

(A) could  (B) used to  (C) might  (D) ought to 

SECTION - D (WISE WIZARD) 

41. Select the correct adjective form of the noun given in bracket to complete the 

sentence. 

 The Queen wore a ________ diamond. (Magnificence) 

(A) magnificent    (B) magnifying 

    (C) magnitude    (D)magnifious 

42. Select the appropriate adverb to complete the following sentence. 

 I found his home very _________. 

(A)  easily   (B) difficultly  (C) frequently  (D) often 

43. Choose the most appropriate option to complete the following sentence. 

 ________ you’re happy about it, I have no objection. 

(A) As long as (B) Whatever (C) Therefore  (D) Even so 

44. Select the correct form of the verb to complete the sentence. 

 It’s evening . People ______ to their houses and _______T.V. 

(A)  come / are watching  (B)  have come/ are watching 

(C) come/watch    (D)  has come/ are watching 

45. Choose the most appropriate answer for the following questions.(Q45-46) 

Three of the following nouns follow the verb ‘catch’ very naturally. Which 

verb and noun combination does NOT go together? 

(A) Catch a fish   (B) Catch a bus 

(C) Catch a cold   (D) Catch a new word  
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46. “Excuse me, would you mind ________ a photo of me and my grandfather”? 

 (A) making  (B) taking  (C) catching  (D) doing 

47. Choose the most appropriate option to complete the following sentence. 

I’ve been afraid of dogs ever since a large canine ______ me when I was 

a child. 

(A)  went for (B) went after  (C) went to  (D) went over 

 Choose the right order to make up a story. (Direction Q 48- 49) 

48. 1. Upset and tired I came back home. 

2. But when I came to the store it was closed for some unknown reason.  

3. There was an exhibition of new fashionable goods at the Department 

 Store. 

4. My visit was a failure. 

5. I took some money and went there for I wanted to buy some things for 

myself. 

 (A) 3,5,2,4,1 (B) (2) 1,4,2,3,5  (C)  2,5,3,1,4 (D)  4,2,5,3,1 

 49. 1. London is on the river Thames. 

2. It has more than 9 million people. 

3. London is the capital of England. 

4. It is one of the largest cities in the world. 

5. Great Britain is a densely populated country.  

(A) 1,3,4,5,2   (B)3,4,2,5,1 (C) 2,1 3,4,5 (D) 5,3,4,1,2 

50. Choose the best answer from the following idiom. 

 “And then some” means _____. 

(A)  not many   (B) and only a few   

          (C)  and a lot more  (D) none of these  

 


